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Oct 04, 2018
Lesson 04.OL.Theories and Models.
Type directly on this form and upload it to BB.
Choose three of the models reviewed in your text, in BB material or in the lecture.  Type each model in column 1.  Then for each one, identify WHY/HOW this model relates to your health fair topic.  Type this in column 2.   You can make the chart below larger, by typing more in the column.  However, make sure your answer is thorough and succinct.  

Health Fair topic: Energy Drinks – Level 7th grade. 

	Model
	Constructs that relate and how/why they relate to your topic


	Precede-PROCEED Model
	It connects to my question because I can be able to plan and construct a health program plan and analyze situations and design the health programs efficiently.
I can use it in the educational diagnosis that is PRECEDE and assist me to understand human behavior that is influenced individually.
I can also use to analyze for ecological diagnosis that is PROCEED to look for environmental factors affecting the human


	Health Belief Model  


	This model relates to my health topic in that I will be able to know the perceived susceptibility and perceived seriousness of health condition through education on the prevalence and incidence of diseases.
It also helps in encouraging people to be involved in the health-promoting behaviors.


	Social Cognitive Theory Model 
	This model relates in my topic in that I will be able to learn the behaviors of individuals through observation environment cognition and ethics. 
The main concepts here are:
· Personal: I will be able to know if an individual has low or high self-efficacy,
· Behavioral: I will be able to see the response of an individual that he receives after performing a behavior. 
· Environmental:  I will be able to know the setting that influences an individual to perform a behavior completely




Scoring Rubric
	Follows directions
	Yes-.5
	

	Clearly understands all the chosen models, with correct info on constructs (TA) and application to your topic/HF.  Succinct
	Yes-3 (one point for each row)
A, not as T or S as could be-1
No or errors, too vague 0
	

	Sp/G
	0 errors=.5
1+errors=0
	

	
	
	



